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SN SYEH
B soiAme Us)
el sESK & (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sZE0t2 8ss4 =201 XNE 300,000 300,000
308 XXM SOIA 300,000 300,000
01 XN B2 LS 300,000 300,000
Os&lts 3584 =201 A& 300,000
sE S5 NE8s8 N 118,500 134,300 15,800
= 105,000
= 13,500
308 AtAIEMSOIE 118,500 134,300 /15,800
= 105,000
= 13,500
01 RSN EES 118,500 134,300 A15,800
Os& 28 HEsd X 118,500
= 105,000
=S 13,500
sZ S50t ZEAME 3,770,000 3,510,000 260,000
= 2,900,000
< 870,000
403 MR HSAHE01H 3,770,000 3,510,000 260,000
= 2,900,000
= 870,000
01 AXISHA=2E2 X 3,770,000 3,510,000 260,000
O=& ss0ts 28 MY 3,770,000
= 2,900,000
= 870,000
s8I =sSAE 181,740 0 181,740
= 139,800
< 41,940
308 AXIHMSOIA 181,740 0 181,740
= 139,800
< 41,940
01 HASHHBAEEXS 181,740 0 181,740
sHI| =SXE 181,740
= 139,800
= 41,940
sE KA 2 740,880 0 740,880
= 604,800
s 136,080
308 AHXIEMSOIH 740,880 0 740,880
= 604,800
< 136,080
01 XN B2 LS 740,880 0 740,880
OsE& &ddA 29 740,880
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SN SYEH
3 gy 29
el ddsgel 54 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 X SHHMSAH=01H 720,000 720,000
01 AXISHHA =2 & 720,000 720,000
Old=sol =& HoldH| A& 720,000
HesgodH 24 462,000 507,000 /45,000
308 AXIHSO0IA 408,000 453,000 /45,000
01 HAHHBSEEXS 408,000 453,000 /45,000
Old=sgeldy 23 A& 408,000
403 AXIEHHSAH=201H 54,000 54,000
01 XIS A=E £ 54,000 54,000
Os&g 88 etk stad ZX 54,000
HEsel A3t 325,000 370,000 /45,000
201 er23| 30,000 30,000 0
03 Ar=EHI 30,000 30,000 0
Otld=gel Agda 938 30,000
301 EtE N = 250,000 250,000
08 212+91=2|044| 240,000 240,000
ONdgd=sel Aot 240,000
11 #AIAHIXIE S 10,000 10,000 0
Old=sael HEdst 3s 10,000
308 XXM SOIA 45,000 90,000 /45,000
01 AXEH B2 LS 45,000 90,000 245,000
O0dsgel Azdst s 45,000
Hedsgel Sa2aa3d 797,940 0 797,940
= 643,500
< 154,440
308 AHAIEMSOIE 797,940 0 797,940
= 643,500
= 154,440
01 HAHHBSEXS 797,940 0 797,940
Old=gel SxA3a8d 797,940
= 643,500
= 154,440
NEH & 2Ae|2F 1,382,193 2,278,038 895,845
Jl 1,364,693
== 17,500
sXizel & sEXGHE s dBAY s4 17,500 22,500 25,000
201 er2 3| 7,500 7,500 0
01 AtR2telHl 7,500 7,500 0
OsAg2d € 2el2g 7,500
202 04| 10,000 15,000 /5,000
01 2K 10,000 15,000 25,000
OsEXNFGHe 10,000




SN SYEH
B soiAme Us)
el sN2Ed & 22l2Y (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
sXO0IZAEH AR Q12H| K& 1,364,693 1,810,538 A445,845
Jl 1,364,693
101 ©1AH| 29,000 27,000 2,000
Jl 29,000
M IRNZZ2NSE 29,000 27,000 2,000
(O=PNIUE=2s PN 29,000
) 29,000
201 Ler23| 1,000 3,000 22,000
Jl 1,000
01 AtR2telbl 1,000 3,000 22,000
OsXolE2el X 1,000
7l 1,000
308 AtXIEMSOIE 1,334,693 1,780,538 A445,845
Jl 1,334,693
01 MRESHH B EES 1,334,693 1,780,538 A445,845
OsAlolsael A& 1,334,693
) 1,334,693
SEXN SR 83,787,650 73,422,000 10,365,650
= 64,978,000
< 18,809,650
HH ==K & (XIXEA) 64,978,000 54,209,000 10,769,000
= 64,978,000
402 BIZtAH=01A 51,071,000 47,209,000 3,862,000
= 51,071,000
02 QI XHE AL E R (01X THE) 51,071,000 47,209,000 3,862,000
Obl==IH e (BI2HE ) 51,071,000
= 51,071,000
403 MR HHMSAHE01H 13,907,000 7,000,000 6,907,000
= 13,907,000
01 AXISHHA=2E XL 13,907,000 7,000,000 6,907,000
Ot ==& (XIXFAI) 13,907,000
= 13,907,000
SIS FH(HTREZXER!) (HEAY) 4,472,000 4,472,000 0
403 AXIEHHSAH=0lH 4,472,000 4,472,000
01 AXISHHA=2EE 4,472,000 4,472,000
ot—=& ax&el 4,472,000
SIBEHI(S2AIEHE) (HEALY) 3,080,000 4,680,000 1,600,000
403 AXIEHMSAH=0ld 3,080,000 4,680,000 A1,600,000
01 A= 2L 3,080,000 4,680,000 1,600,000
OAlZ ==clAlg 2= 3,080,000
SHIIBHEH (A2 IS ) (B EAL) 5,944,000 2,600,000 3,344,000
403 AXIEHMSA=Z0l1d 5,944,000 2,600,000 3,344,000




SN SYEH
3 gy 29
Rl SEXSNY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA=2 2L 5,944,000 2,600,000 3,344,000
OA1&2 bH==HH 5,944,000
SIIBHEHI(ED18HEH) (M EAL) 172,000 172,000 0
403 MR HHMSAHE01H 172,000 172,000 0
01 MHXIHH A 222 172,000 172,000 0
g[8t ol 172,000
A2 SENLAE 5,141,650 6,679,500 1,537,850
403 AXIEHHSAH=201H 5,141,650 6,679,500 1,537,850
01 XIS A=E £ 5,141,650 6,679,500 1,537,850
OAHE SEMHLAE 5,141,650
SIIBAIE =5 39,962,000 30,515,000 9,447,000
= 32,865,000
== 7,097,000
I Y2 S MIOHE 4= 18,695,000 16,178,000 2,517,000
= 18,695,000
402 2I2E X201 & 18,695,000 16,178,000 2,517,000
= 18,695,000
02 QI XHZ AL E R (01X THE) 18,695,000 16,178,000 2,517,000
O=It2clXM HE* 18,695,000
= 18,695,000
SN2/ SRR Es= (A2 RHE) 11,789,000 5,437,000 6,352,000
= 8,170,000
& 3,619,000
403 AXIEHMSAH=Z0l1d 11,789,000 5,437,000 6,352,000
= 8,170,000
= 3,619,000
01 XA =2 E 11,789,000 5,437,000 6,352,000
O=Jt2elg =M M+ 3,000,000
= 3,000,000
OXlg2elg M HE > 8,789,000
= 5,170,000
= 3,619,000
St HHIE4=I0e 6,750,000 5,400,000 1,350,000
= 6,000,000
s 750,000
403 MR SHHMSAH=01H 6,750,000 5,400,000 1,350,000
= 6,000,000
[ 750,000
01 MHXIHH A =222 6,750,000 5,400,000 1,350,000
Oste il S4=IHe 6,750,000
= 6,000,000
= 750,000
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Cel: SHIIBAIE &3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=== sEsSsHe 500,000 1,500,000 1,000,000
403 X SHHMSAH=01H 500,000 1,500,000 1,000,000
01 AXISHHA =22 & 500,000 1,500,000 1,000,000
OJdts== sgs+ e 500,000
=AM AIEEZAE 2,028,000 2,000,000 28,000
403 MR EHSAHE01H 2,028,000 2,000,000 28,000
01 AXISHHA=2 2L 2,028,000 2,000,000 28,000
CEMX AISE2AY 22LEH 2 D)
s=2& 2,028,000
SSAAD|BHEH] JI=H = 200,000 0 200,000
401 Al HIZL S 0HYI 200,000 200,000
01 Al&HI 200,000 200,000
Osgda|etEdl Jl=H = =8 200,000
UEE st dablg 25 61,853,800 62,363,800 A510,000
= 1,190,000
= 60,663,800
AlEol oYX Mab|gh 25 61,853,800 62,363,800 /510,000
= 1,190,000
= 60,663,800
sHYNEH |4 22 2,116,800 2,116,800
308 XXM SOIA 2,116,800 2,116,800
01 XN B2 LS 2,116,800 2,116,800
Osxgiay =4 - 29 2,116,800
SENSUS AL 1,595,000 1,651,500 /56,500
= 1,190,000
& 405,000
201 get=3y| 20,000 20,000
01 AtR2tc|HI 20,000 20,000
Os&Eo=Esg 243t 20,000
307 212+01& 80,000 0 80,000
= 40,000
= 40,000
02 B HAHE L 80,000 0 80,000
O=ZESMUH(AMTE) 80,000
= 40,000
== 40,000
308 AHAIEMSOIE 1,495,000 1,631,500 /136,500
= 1,150,000
= 345,000
01 X SHHEAEXS 1,495,000 1,631,500 136,500
O=sZEASHUE (SEH) 520,000
= 400,000
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